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MEDICAL TERMINOLOGY - II

Time Allotted : 3 Hours Full Marks : 70

The figures in the margin indicate full marlks.

Candidates are required to give their answers in their own words
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as far as practicable.

GROUP - A
( Multiple Choice Type Questions )

Choose the correct alternatives for any ten of the

following : 10x1=10

i)

ii)

Blind spot in the vision is called

a) Scotoma b) Trachoma
c) Stye d) Strabismus.
Pacemaker is implanted in heart due to

a) coronary blood supply obstruction

b) defect in conduction system of heart

c) defect in heart valves

d) rheumatic heart disease.
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iii)

iv)

V)

vi)

vii)

Which one is a part of inner ear ?
a) Malleus b)  Incus e
c) Cochlea d) Pinna.

The cessation of fertility & diminishing of hormone

production is called

a) involution of uterus b) gestation

c) missed abortion d) menopause.
Sputum with blood is known as

a) Hemoptysis b) Pleurisy

c) Eclampsia d) Hemopoisis.
Proctoscopy is the instrumental examination of
a) Vulva b) Rectum

c¢) Inner ear d) Uvula.
Scurvy is due to deficiency of

a) Calcium b) Vitamin E

c) Vitamin D d) Vitamin C.

viii) Anorexia means
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a) loss of blood b) loss of appetite

c) loss of oxygen d) loss of smell.
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ix)

X)

xi)
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Puerperium continues till about

a) 42 days of after delivery

b) 94 days of after delivery

c) 58 days of after delivery

d) 90 days of after delivery.

Bell's Pulsy is the dysfunction of cranial nerve

a) VII
b) I
c) VI
d X

Graves’ disease occurs due to

a) Hyperthyroidism

b) Hypothyroidism

c) Hyperadrenal gland secretion

d) Hypoparathyroidism.
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GROUP - B
( Short Answer Type Questionsr-)i‘-r-; — N
Answer any three of the following. 3 x5 = 15
2. Match the following : 5x1
i)  Vitiligo a) Black colour stool
ii) Menarche b) Lower part of uterus
iii) Melaena c) Ovulation
iv) Dysuria d) Skin disease
V) Cervix e) Painful urination.

3. Write the full forms of any five of the following

abbreviations : 5x1
i) CHD ii) BPH

iii) NIDDM iv)  UTI

v) GTT vi) COPD

vii) TURP viii) PUO.
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4. Fill in the blanks in any five of the following : > x 1
ﬁ"f.',]'_‘ ~———
i) Pleurisy is the inflammation of .................... .
ii) Lumbago is the pain of .................... .
iii) Tinea capitis is the fungal infection of .................... .
iv) The name of Xth cranial nerve is .................... .
v)  Plastic surgery of lip is called .................... .
vi) SGPTisa .....ccceeeeenen. test.
vii) Sarcoma means tumour in .................... .
viii) All skull bones are immobile except the .................... .
5. Write notes any two of the following : 2 x 2%

i) Diabetes mellitus

ii) Gangrene

iii) Psoriasis

iv) Thalassemia.
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6. State whether the following statements are True ¢ in

any five of the following : (I3 Sy A |

i) The organ which acts both as exocrine & endocrine

gland is Pituitary.
ii) CABG is a cardiac surgery.
iii) Dementia means loss of memory.

iv) Arteriosclerosis occurs due to deposition of fat in

arterial wall.

v) Amputation is the removal of a body extremity by

trauma or surgery.
vi) Paralysis of upper limb is known as paraplegia.
vii) Eclampsia is a complication of pregnancy.

GROUP - C
(Long Answer Type Questions )
Answer any three of the following. 3 x 15 =45
7. Describe various parts of the digestive system with labelled
diagram. Write a short note on Gastro-eosophageal Reflex
Disorder ( GERD ). What is peristalsis ? What is pyloric

stenosis ? 8+3+2+2
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8. Describe various phases of menstrual cycle.

pregnancy ? Write a short note on abortion. :

9. Describe TNM classification of Tumour. What do you mean
by staging and grading of tumour ? What is the difference
between benign and malignant tumours ? What is

apoptosis ? 9+3+2+1

10. Describe briefly the different parts of nephron with a
diagram. Give the mechanism of formation of urine and its

excretion process. 7+5+3

11. Define hormone. Describe briefly about the different

hormones secreted from pituitary gland and its function.
2+7+6
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